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THE KREIN-MILMAN PROPERTY AND COMPLEMENTED
BUSHES IN BANACH SPACES

AGGIE Ho

We give “complementation” as a sufficient condition on
a bush in a Banach space for the space to fail the Krein-
Milman property. We also construct an example of a Banach
space X which contains a complemented bush. Hence the
space X fails the Krein-Milman property. However the
closed convex span of the bush contains infinitely many
extreme points and no denting points. Moreover, the closed
convex span of these extreme points contains the original
bush.

1. Introduction. It is an open question whether a nondual
Banach space with the Krein-Milman property has the Radon-Nikodym
property. Since a Banach space contains a bush if and only if it
does not have the Radon-Nikodym property, a space which contains
a bush and satisfies the Krein-Milman property would settle this
question. Theorem A indicates that such a space must not have a
complemented bush. For a summary of results on the Radon-Nikodym
property and the Krein-Milman property, see [1, Ch. VII].

A Banach space X is said to have the Krein-Milman property
if every bounded closed convex subset in X is the closed convex
span of its extreme points. We define a bush in a Banach space X
to be a subset

B={"1<1< Nn),n =1}

of the unit ball of X that satisfies the following conditions:
(Bl) For each n = 1, the collection of the first N(n + 1) positive
integers is the union of N(n) consecutive sets

{Si:1 =<1 = N(n)

such that each S?™ has r**' = 2 members (the bush is a ¢ree if each
r* = 2) and

z = LS e je sy
rrtt
(B2) There is a positive separation comstant & such that, for
each ¢ and every je S?*, the following holds:
Hxnl . xn-H,jH > e.
We say z"™7 follows z" or (n + 1, 7) > (n, 1) if jeSr™. The
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relation “>” is extended to be transitive. We say
a={(n, i) n =1}

is a branch if (n, 1) < (n + 1, 1,,,) for each n. A wedge of the bush
B is a set of the type:

W, = {&™: (m, j) > (n, )} .

A complemented bush is a bush which satisfies the following
additional condition:
(B3) There is a positive 6 sueh that, for each =,

lu —vlfz0lu]

if welinsp W,, and velinsp{W,,: ke Sy and k == i}, where each k&
and ¢ belong to some S

The concept of approximate bush is useful in constructing new
bushes out of old ones and for proving the existence of bushes. We
call a set

B,={&"1=1= N=n),n=1}

of the unit ball of X an approximate bush with errors of approxi-
mation {0,}, if each 4, > 0 and 3,0, < <o, (B2) is satisfied, and for
each n,
(AB1) o - e sl <o

{7—?6 f <o

An approximate complemented bush is an approximate bush that
is complemented, that is, (AB1), (B2), and (B3) hold.

The following are some examples of trees and bushes. The trees
in Examples 1, 2, 4, and 5 are complemented. The tree in Example
3 is not complemented. The tree in Example 4 is subtree of the un-
complemented tree in Example 8. An approximate bush is described
in Example 6. This approximate bush approximates a subbush of the
tree in Example 5.

ExampLE 1. In the space L[0, 1], let %' = 1 on the unit interval
[0,1]. Inductively, for any » =1, 1 < 1 < 2", define

n—1 /I: —1 1
12 on [ 2n1’ 2n—1> ’
xX g
0 otherwise .

The set {x™} is a complemented tree in the space L[0, 1] with com-
plementation constant 1 and separation constant 1.
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ExampLE 2. In the space C[0, 1], let z' be the linear function
on the wunit interval [0,1] for which x"!'(0) =1 and 2“'(1) = 0.
Inductively, for any » and <, if 2" is a linear function on the unit
interval [0, 1], constant on the intervals [0,a] and [b,1], and decreasing
on the interval [a, b], define

1 on I:Or @+ b:l !

2

xn.11,2i~1 =<0 on [b, 1] ’
linear on [a ; b, b] ?

and
1 on [0, a],

0 on[a+b,1J,
2

a+b]

n-+1,24

linear on [a,

The set {#"} is a complemented tree in the space C[0, 1] with com-
plementation constant 1 and separation constant 1/2.

ExamMpLE 3. In the sequence space ¢, let 4'=(1,0,0,.--).
Inductively, for any » and 1, if 2™ = {x"(k)}.,, define
gr ) = g (k) = oni(k)  for ke m 4+ 1,
and
gt 4 1) = —xn T (p + 1) = 1.

The set {x"} is a tree with separation constant 1. It is not com-
plemented because the element {207+1y., = g th2 ! — grih2i = grihai—1
2" ig contained in both linsp W,, and linsp W,;.

ExampLE 4. The tree {x"} in the above example contains many
complemented subtrees. In particular, let o' = a, ' = &>, and
y>* = a**, In general, let y* = {y"(k)};=, and define

yn+1,2i~1(2n—1 _|_ ,i) — _yn+1,2i(2n—~1 _|_ ’l:) —_— 1 s
and
yn+1,2i41(k) — yn+l,2i(k) — ynl(k) for k ;é 2n~—1 + ?: .

Notice that, for ¢ # j, the elements y"™* and y"*“* have disjoint
support for & > 2.
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This tree {y"'} is complemented. To see this, let welinsp W, .,
and v €linsp W,,,,,. Notice that

w0 = sule 5]

while

02+ 1) = ’—Fv<2"‘2 + [% ; 1]) ,

where [s] is the greatest integer less than or equal to s. We shall
show that ||u — »| = ||u]l. If the norm of u is assumed at k =
2"7' + 4, then

Hu—szmw{mw—wwmk:2H+¢ork:%ﬁ+[f;ﬂ}

= [u@ + 9)|
= flull-

On the other hand, if the norm of u is attained at some k > 2" + 4,
then

lw — vl = luw@)] = |[u]l .

This is true because v(k) = 0. Consequently the set {y"} is a com-
plemented tree with complementation constant 1. It is easy to see
that this tree has separation constant 1.

ExAmMpPLE 5. Let X be the norm-completion of the linear span
of the set

T={:l<i<2, n=1},

where 2™ is a function on a “tree of points” {(m, j7):1 < 5 < 207,
m = 1}. Define by
(L if (m, j) = (0, 9),
z"(m, j) = {2 if (m, j) > (n, 1),
0 otherwise ,

with a norm defined as follows. Define || ||, by letting
o]l = [ [o(m, D,

if this is finite. Define [[ ]] to have as domain the set of all u for
which % has support on one branch. If % has support on the branch
a, let
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[o]] = 3 [u(n, ) = uln + 1, 91,

where each (n, 7) and (» + 1, j) lie on a. Define || |, to have as

domain the set of all » with finite support. If w has finite support,
let

lwlly = inf {{[u*]}: w = 2 u*},

where each u* has support on one branch.
If xe T and p is a positive integer, let x = w® + v?, where

(m, §) {w(m, 7)) if m=p,
ur(m =
= o it m>p;
and
(m, §) {0 if m=p,
vP(m =
»J x(m, j) if m>p.
Then define || || by letting ||z| = inf {|u?|;, + ||v®|;: ® = u® + v® as

described above}.

REMARK (i). If weT, then |lz||<1. To see this, suppose
x = u? + v as above. Then [[u?|,<1. If p = n, then

{” P “2}2 — gp 2m——n[2n—m]2 — 21——p+n SN 0 as p—— o .

REMARK (ii). [[z||=sup{z(m, H:1=7=<2"" m=1}. To show
this, suppose = = u® + v*. If w? = 3, u”*, where each u”* has sup-
port on one branch, then

) 2 3w, ) — i + 1, )1,

where each (n,7) and (» + 1, 7) lie on the branch containing the
support of u™* Therefore

[[w"*]] = [u™*(n, 9],
for all » and ¢ < 2"'. Thus [[u”*]] = sup,,; {|u"*(n, )|} and

llur]l, = sup {|u(n, 9)]} .

k(2X3

This and ||v? |, = sup, ; {|v"(n, )|} imply ||@| = sup,, {|z(n, 9)[}, for all
x in X.

REMARK (iii). The set T is a tree. From Remarks (i) and (ii),
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we know that |lz|| =1 if zeT. Also,

Hxn+1,2i—1 . xn-}—l,ziH 2 1

b

ifl<i<2"'and » = 1. Since the element x"™** — g"*** has one
value of 1 (and one value of —1.) Consequently, the set T is a tree
in the space X.

ExampLE 6. Let {2*} be the tree described in the previous
Example. Define a subbush of this tree as follows. Let

vim, 5) {w@n Hoif m=2,
m. 7) =
yrim =1, it om> 2,
S {wzl”'(m, 7 i o m=2,
o m’ = .
yrim 3= 1 it omo> 2,
and in general,
om, ) {x(m H it mse,
“m —
v = if w2

The set {y":1 <1 < 2°"7'" n = 1} is an approximate bush with errors
in approximation {27" i n = 1}.

2. Bushes and approximate bushes. We show that if a Banach
space contains an approximate bush then it contains a bush. More-
over, the approximate bush is asymptotically close to the bush.

LEMMA 1. Ifa Banach space X contains an approximate bush,
then this bush contains a subbush B, = {x"} for which there is a
bush B = {y™} such that, if y"* € B, then

(1) lim sup {||y* — z"*|l: e N(n + 1)} =0 .

n—00

Moreover, if B, is complemented, then so is B.

Proof. First choose a subbush for which the errors {,} in ap-
proximation satisfy >0, < ¢/3, where ¢ is the separation constant
for the approximate bush. Given z", we define 7" as a weighted
average of those followers of x" that can be joined to ™ by a chain
of p successive members of the approximate bush B,, where the
weights are chosen in the obvious natural way. Very analogously
with the proof of Lemma 1 in [2], it follows that if

y™ = lim o}

p—oo
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for each (n, 1), then {y™} is a bush for which ¢/38 is a separation
constant. Condition (1) is satisfied, because the following holds:

ly™ — x| <§]5k——>0 as n——0.

To see that B is complemented if B, is complemented, let (n, )
be arbitrary and choose ¢ >0 so that |lu —w| =@|lu|l if ue
linsp W,,(B,) and v €linsp {W,(B,): k # i}, where k and 7 belong to
some S?'. Suppose # = Y, a,i, with each i, e W,,(B), and 7 = >, b,7,
with each 7, belonging to some W,,(B) with %k + 4. Then each 4,
can be represented as a convex combination of elements arbitrarily
far out the wedge W,,(B), so that % is nearly equal to a member of
the linear span of W,,(B,). Since a similar statement can be made
for 7, it follows that

o —olzolal .
3. The Krein-Milman property and complemented bushes.

LEMMA 2. Let x be an extreme point of the closed comvex span
of a complemented bush in a Banach space. Then there is a branch
a for which x belongs to the inmtersection of closed convexr spanm of
wedges along the branch «; i.e.,

xe N{coW,,;: (n,2)€a},

Proof. Suppose that, for some % and ¢, x is an element in the
set

(€0 [co Wi, €o {0 Wi k # }])\(co [co W, co {eo Wi kb + 1}])

where k& and 4 belong to some S?~'. Then, by passing to a sub-
sequence, there is a positive number )\ < 1, and there are sequences
{y,} and {z,} contained in co W,, and co {co W,,: k # 1} respectively
such that

N, + (A — Nz, — .

Consequently My, — y,) + 1 — A)(z, — 2,) — 0 as p and ¢ approach oo.
Since the bush is complemented, the sequences {y,} and {z,} are
Cauchy. Let y = lim, .y, in co W,, and z = lim, .. 2, in €0 {co W,,;:
k == i}. Then

=2y + 1 — Nz, for 0<A<1.

Thus, for some n and S?7?, and for some ¢ and each % belonging to
St~1, if x is an extreme point for ©o [co W,,, Co {co W,,: k = 4}], then
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it must belong to either co W,,, or co {co W,,: k ++ i}. By repeating
this process, we have that, if x is an extreme point for the closed
convex span of a complemented bush in a Banach space, then there
is a branch a for which z belongs to the intersection of the closed
convex span of wedges along the branch a.

LeMMA 3. If Bis a complemented bush, then there are at most
countably many branches a for which N{co W, (n, 1) € a} contains
a nonzero element.

Proof. For an arbitrary § > 0, choose for each branch a a
member xz* of N{co W,;: (n, ) ca} with ||z*| > 0, if such an 2 exists.
If = and 2 are such elements for different branches a and 3, then

|a* —af[| = 05,

where 6 is the complementation constant. Since the closed linear
span of B is separable, there can be at most countably many such
2*’s with norm at least 6. Thus there are at most countably many
branches « for which N{co W, (n, 7) € a} contains a nonzero member.

LEMMA 4. If a Banach space X contains a complemented bush,
then it comtains a complemented bush whose closed convexr span
contains at most one extreme point.

Proof. Let B be a complemented bush with complementation
constant 4. By Lemma 3, there can be at most countably many
branches a for which N{co W,,: (n, 7) € a} contains a nonzero element.
Order these branches: a,, a,, ---. For each k let p(k) = 2*"'. For
each %k, remove all members of B that belong to W,,.,,., wWhere
(pk + 1),79)ea,. It is not difficult to see that the remaining
members of B form an approximate bush with errors in approxima-
tion {27%:k =1,2, ---}. Now we can obtain, by using the method
of proving Lemma 1, a bush that is complemented and for which
N{co W,;: (n, ©) € a} contains no nonzero element. It follows from
Lemma 2 that the closed convex span of the bush has at most one
extreme point.

THEOREM A. If a Banach space has a complemented bush, then
1t fails the Krein-Milman property.

4, An example. We construct a norm on a linear space of
functions on the set of ordered pairs S = {(n,1):1 <1< 2", n = 1}.
We show that this space contains a complemented bush (actually a
complemented tree) whose closed convex span contains infinitely many
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extreme points and no denting points. Moreover, the closed convex
span of these extreme points contains the original bush.

Since a tree is a bush for which each member has two successors,
we can represent a tree as

T={1i122",n=1},

where the two successors of z™ are z"™*~' and z"**. We say a
branch a = {(n, i,):n =1,2, ---} turns left at k if 4., = 23, — 1.
We say a branch is left-turning after k if it turns left at » for all
n=k, but not for n =k —1. We say a branch turns right at
n = k if it does not turn left at » = k.

Let us know define a particular tree 7 = {z"%}, in the following
manner. The function z"' is identically zero, and the other functions
are defined inductively so that:

a i (m, g) = 2" (m, §) = av(m, g) i (m, 5) # (n, 1),
xn+1,2i—l(,n’ ’l,) =1 , xnﬂ,zi(n’ 7/) = —1.
We note that the averaging property (Bl) holds for these elements.
Before defining a norm on T, we construct positively homogeneous
functions B,(-) with domains all functions on S with finite support.

We do this for each branch « that is left-turning after %k for some
k:

B@) = | L{{1s0)] + 5 laGj + 1at + 1) — a(at| |

+RIG D= aOF + 3 Jetm,

where x(j) = «(J, ¢;) for (J, i;) e, and a(j) = (—1)%+', that is, a(j)
is +1 if a turns left at 7 and it is —1 if «a turns right at j.

DEFINITION. The function ||-|| is defined on the linear span of
T by letting

|@|| = inf {Z B (#9): @ = é xj} )

where the infimum is taken over all finite decompositions {x} of x
and all choices of the branch «a(j) for each j.

For any y and z in the linear span of T, there are finite de-
compositions {y’} and {27} and choices of branches such that

lyl + 2] = X Bayy(¥?) + X Bpjy(2)
= lly + 2.

Therefore ||-|| is, in fact, a norm on the linear span of 7.
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DEFINITION. We define the Banach space X to be the |-||-com-
pletion of the linear span of 7. It is clear that X is in fact a space
of functions on S with norm as defined above.

LemMMA 5. In the Bamnach space X, the following imequalities
hold for each element x in X:

(5a) x|l = 1/4]2(n, ©) — x(n + 1, 20 — 1)],

(5b) x| = 1/2]|x(n, 9)| if i is even,

(be) x|l = 1/6|x(n, 1) — a(n + 1,2 — 1) — a(n + 1, 23),

(6d) [la| = v1/2]2(, 1)].

Proof. We can get (5¢) by using a weighted average of (5a) and
(5b), with (n + 1, 27) in place of (n, 7) in (5b); (5d) is immediate from
the definition. It remains to prove (5a) and (5b). Let 2 be an
element in X. Fix (n, 7) and consider B,(x) where « is left-turning

after k. We continue to use the notation x(j) = (g, 1;) if (7, 7;) e,
and «a(j) is +1 or —1 according as a turns left or right at 7.

Case A. If the branch « passes through (n, ?) and k& > =, then
B.w) = A= {{1s0] + S laG + Datg + 1) — alia) |
+ S 0e( + D= e+ 5 latm F}
> %{[m(l)x(l)i 4o 4 an — Dam — 1) — a(n)z@)]
+ la(n)aen) — an + Da(n + 1)
£ S a4 Ve + D) — aGe() |
where ' = 3% |@(f + 1) — 2()]* + Dimirea |@(m, 5)[°. Thus
B,(@) = Hllla(m)] + |atmz(n) — aln + Date + DIF + w}.
Hence

(2) Ba<x>z§1x<n>| =§1x<n, il

Also, B.,(x) = 1/2]x(n + 1)|, and B,(x) = 1/2u = 1/2]|z(n + 1, 5)|, if
(n+1,75¢a. So we have,

(3) B«<x>g%<1w<n,v:>a+1x<n+1,2i—1>:>.

Case B. If the branch a passes through (n,?) and k = n, then
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B (x) = 1/2)|x(n, )], as in (2) of Case A, and

Bz || Elatn) — atn + 1)
(4) _
- %]x(n,i)—x(n—kl,%—l)].

Case C. If the branch « passes through (n, 1) and & < n, then
1 is odd, and

k—1

B.@) = L[ la] + [ 1a + 102G + 1) — airot) |
+la(m) — z(n + D
(4) + 3 e+ ) —a@P+ 3 Jam E)

= L) - atn + 1)
2 [ Liatn, i) — atn + 1,21 - 1)

Case D. If the branch a does not pass through (n, 7), then

(5) BN(OC)z%{lx(n,i)lJr[x(n+1,2i-—1>l},
and
(6) Ba) z ||+ laln, )]

Since (5a) and (5b) are satisfied with ||-|| replaced by B,(-), it now
follows easily from the definition of ||-|| that (5a) and (5b) are
satisfied as stated.

LEMMA 6. The set T is a complemented tree in the space X.

Proof. We shall show that the tree is a complemented tree
with separation constant 1/6, and complementation constant 1/7.

To obtain the separation constant, we observe that
[(x™ — 2™ (m, 1) =1 if j is either 2¢ — 1 or 2i. So it follows
from both z" and 2"*“¢ being 0 at (n +1,2¢ — 1) and (n + 1, 27),
and from (5c¢), that the separation constant is 1/6.

Finally, we show that the complementation constant is 1/7.
To see this, let y elinsp W,,,,,_, and let zelinsp W,,,.,. It is clear
that there is a number @ such that, if « is a branch through (n, 1),
m < n, and (m, j) € a, then
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y(m, j) = a(m)a .
Similarly, there is a number b, such that, for m < n and (m, j)ca,
z(m, §) = a(m)b .
Thus, y(1,1) + 2(1,1) = a)(e + b), and if (n — 1, %,_,) €, then
yim —1,4,,) +2zn—1,14,,) =an —1)(e +0d) .

Also, y(n, 1) + z(n, ) = (@ — b), and y(n, k) + 2(n, k) =0, if k1.
From (5¢) we have

Iy + 22 H@+ 20— 16, = @+ 2)n, ) — @ + 2)n, )
Lip if 4 is odd,
3
Lial if i is even
L .
It follows from (5d) that
w2l z I v+ a1z JLla oz Lie .

If 7 is even, then ||y + 2| = 2/5(3/2-1/8|a| + 1-1/2|a + b]) = 1/5|b]|.
Thus for % odd or even,

(6) PEEIEE LR
We proceed to show that
ly+zlz¢lal and Jy+zlz1iul,

that is 1/7 is a complementation constant. To estimate ||y + 2|, we
assume that {x?};.,, associated with branches «,, gives

1y + 2| = 2 B,(@") .

Define z by letting z(m, j) = 2(m, 7) = a(m)b if (m, 7) < (n, 1), Z(n, 1) =
—b, and zZ(m, j) = 0 otherwise. Then

(1) 1711 = BE) = b + b1 = 0]
From (6) and (7), we have

(8) Ily+2|lz%Iblz%H§ll-
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Now let A = {x?: the branch «, does not pass through (n + 1, 2¢)}.

B = {«x*: the branch «a, does pass through (n + 1, 2¢)} .

Case A. If x*e A, define 2% by letting

) a*(m, j) if (m, j) = (n + 1, 29) ,
4 = .
0 otherwise .

Then B,(x?) = V1/2{3 |@"(m, j)|% (m, j) € a,}*
(9) =% -

Case B. If x?e B, define =% by letting

{x”(m, g) if (m, j) = (n + 1, 20)
xh = .
0 otherwise .

Since «, turns right at (=, ¢), there is a k¥ > » for which we have
By = {E{lor)] + S laG + 1o + ) — aler)| |
+ 3G+ D= wGF+ 3 e, )
1) = {T{aoe+ 0F+[ 5 lal + DerG + 1 - aierin |

= 1/2
+ 51036 + D — s+ S |ehm,
= |[@5 ] .
Combining (9) and (10), we have,

(11) PERIESAEARS A EAR
Averaging (8) and (11) with weights 5/6 and 1/6, we get
Iy + 2l 2 TS ekl + 3 llall + 2] -
Since 3, 4% + S, 2% + Z = 2, we have
ly+2lz 2zl

Also, since ||y|| = ||y + z|| + [|z]| < 7|ly + 2|, we have finally,

ly+zlz 2l
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Thus the complementation constant is at least 1/7.

This concludes Lemma 6. We see from this lemma and Theorem
A that the space X does not have the Krein-Milman property. We
proceed to prove the following theorem.

THEOREM B. There is a Banach space which contains a tree for
which the closed convex spam of this tree comtains infinitely many
extreme points, but mo denting points. Moreover, the closed comvex
span of these extreme points contains the original tree.

Proof. Let X be the Banach space and T be the tree constructed
above. We show first that, for a branch « that is left-turning after
some point, the element x* defined by

- a(m) if (m, j)ea,

wim, j) = 0 otherwise ,
belongs to the closed convex span of T. Next, we shall show that
each x is an extreme point, but not a denting point. Then, we shall
show that the closed convex span of T has no other extreme points.
Finally, we shall show that the closed convex span of these extreme
points contains T.

Let o be a branch that is left-turning after k. For every
(m, 1,) e, let z* denote z™*». For each = >k, z"(m,1,) =1, if
k< m < mn. For some s =k and some positive integer p, let

If £t > s+ p and ¢ is a positive integer, then

i/p if m,j)eaand s<m=s+1<s+0p,

if m,j)ecand s+p=m=t,
1—14/q if (mjeaandt<m=t+1=¢t+q.
0 otherwise .

(y! — yH(m, 5) =

Thus if B(y? — y{) is associated with the branch «, then
lly? — vill < Bly? — v
= V(@ + Vi + @+ D/
—0

’ as p,q,s,t——»oo.

Therefore {y?} converges to an element 2* in X. Furthermore, it
belongs to the closed convex span of T. We notice that, from (5¢c),
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o — | = [ —2M)(n—1,4,,) — (@ —a")(n, 1) — (@*—a")(n, k) ||

|- o=

b

where both (n, 7) and (n, k) follow (n — 1, ¢,_,). Thus the element
2* is not a denting point for the closed convex span of 7.

To show that each z* is an extreme point for the closed convex
span of 7T, assume that x* = (1/2)(y + 2) for some y, z in co (7).
Clearly, for each (n,i)ca, yn,1) = z2n,1) =xn, 1) = an) = +1.
Given ¢ >0, let (m, j)¢ a. Assume (m, 7) lies on a branch g8 such
that a and B split at (k, k). Thatis anNg = {(n, )eca:n < k}. Since
point evaluation maps are continuous (though not uniformly bounded
for odd 4’s), for (m, j) and (k, h) fixed, there is a finite subset
{#:1 <1< p} of T and corresponding convex coefficients {\, > 0:
S n = 1} such that

ly(m, 5) — 3 nai(m, §)] < -21—5 ,

and

[y, ) — Sk, b)| < .;-a .

Let » = 3 v 2i(m, 7) = 1}, and ¢ = 3 {\;: «*(m, ) = —1}. Then

1.

IMy(m, §) — 1] + ply(m, 3) + 1] + [L =¥ — py(m, )] <55,

and

(12) m, ) =%+ ¢ < 30 .
Let » = 3\ {\: 2k, h) = Bk) = —a(k), i.e., &' splits off from a at
(k, h)}. Then, since m > k,
13) A
Let @ = >, {\: @i(k, h) = 0}. Now at (k, h),
|2 vk, ) — y(k, B)| = [v[B(k) — alk)] + o]0 — a(k)]
F = — ollal) — al®)]| < -%-3 .

Since B(k) = —a(k),

| —2a(kyw — alb)o| < -;—3 ,
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or
1 1
= =3,
Yy -+ 5 ® < 1
From (18) and the above, we have \ + ¢ < v < (1/4)6. Combining
this with (12), we have,

ly(m,a')l§%3+x+p<%3<5.

Since § is arbitrary, y(m, 7) = 0 for (m, j)¢a. Thus 2* =y ==z is
an extreme point.

Next, we show that the set co(7') contains no other extreme
points. Consequently it cannot have any denting points.

We see from Theorem A that, if 2 is an extreme point for co (T'),
then there must be a branch g such that xze N{co W,: (n, 7)€ g}.
If B is a branch that is left-turning after some point, then, from
the continuity of point evaluation, x = 2. We shall show that, if
B is not left-turning after any point, then the intersection of wedges
N{co W,;: (n, ©) € B} is void. Assume the opposite, so thereisanZe
Nn{co W,;: (m, ©) € 8}. Then, by the continuity of the point-evaluation
map, Z(m, 7) = B(m), for (m, j)eB. Claim, the element Z cannot
belong to X. Since, for every « in T there is a positive integer N
such that xz(n, ?) =0 for » > N, and since B turns right infinitely
often, there is a point (m, ) in 8, with m > N and j even, such
that (5b) applies. Specifically,

17 — 2| = \/gio?(m, 9) — a(m, J)| = \/%B“”) — 0= ‘/%

Thus Z ¢ co(T'). Therefore the closed convex span of T contains no
denting points.

Finally, we show that the closed convex span of these extreme
points {x*} contains the original tree T.

First, we show that z“'eco{z*: a is a branch that turns left
after some point}. Given 6 > 0. Choose a descending sequence of
positive numbers {4,}7-, which satisfies the following:

3.0, < e and {gl (6rsr — 0k)2}1/2 < \/%a .

Choose p so that {277 3, 63} < 1V'1/26. Let a, be the branch through
(p + 1, ) which turns left for all m = p. Let =z, be defined as
follows:

xq(p_l_k’j):gk lf kgland (p+k,j)eaqs
and x,(m, j) = x*(m, j) otherwise .
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We note that

(]-4) H an - qu é Bﬂq(x“q - x(]) = \/%{Z (0/5'11 - 0k>2}1 : < _;'6 .
Also

2773w, — ol = B, (277 X x, — 2"
(15) <

Eia st
Combining (14) and (15), we have

(277 Xt — gl = 1277 3 (&% — ) || + [ 277 2w, — 2"
<0.
Since ¢ is arbitrary, x"'eco {x*}. It is not difficult to see that the
tree T is contained in the closed convex span of the extreme points

{x"}.

REMARK. This example is essentially the example in |3, pp.
60-73].
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